muTr Pattern Recognition Tuning—MJL — 6/10/2002

Hit masking widths for projections to each station (starting with mulD
projection to station-3) (10,25,40 -> 15,20,20)

Chisg/DF cut on stubs (100,100,50 -> 10)

Selecting only “best” mulD track to go with a particular muTr track
(default allows multiple roads associated with identical muTr track,
therefore generating multiple tracks that are ghosts of each other) Keep
golden roads or best Chisg/DF roads.

Eliminating ghost tracks
Weeding bad hits from tracks
Tighter Chisg/DF cut for tracks (5000,150 -> 20,20)

See
http://www.phenix.bnl.gov/phenix/WWW)/publish/leitch/offline/of fline.ntml
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6/10/2002

Tracking Steps

*Project mulD road to sta-3 and
find stubs

*Then project sta-3 stub to sta-2
and find tracks through 2 stations
*Then project 2-station track to
sta-1 and find full track

*Tracks use effective bend-planes
with kick at effectivezin
between each pair of stations
(“bend-plane tracks”)
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mMuoFindTracks
Main muTr trackfinding

S

mMMuoGetM uiTracks Seeds
tracks with mul D roads

Loop over arm, sta, gap,
plane & oct

MM utGetCandidateTracks

Loop over tracks

muTr Pattern Recognition/Tracker — M JL 6/5/02

End Loop over hits,half-octant,
tracks, oct, plane & gap

mM utCheck Stubs
Select good stubs

A 4
mMutCheckTracks

mMutStMask Mask hitsin plane using
existing track (or road)

Select good tracks

Loop over half-octants

mMutGetCandidateHits

Loop over hits

mMutCheckHit Add hitsin

End Loop over sta, arm

mMutFitTracks
Fit tracks with GeanE

v

mMutCalcDimuons
calculate mass for

planeif consistent with existing
track
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mMutFitStub
Fit stubsin this station

v

g Make Chisg/DF & vtx cut

[rowoerans >

Cut on #hits

v
< mMutFitTrack Fit trackswith

effective bend planes & kicks

v
Chisg/DF & vtx cuts

v
MM utWeedTracks
Weed bad hits from tracks
v
mM utDropGhostTracks
Eliminate ghost tracks

v
mM utProjVertex
Project tracks to vertex &
correct for d&/dx
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Residualsin straight planes for tracks (cm)
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